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How to choose a suitable Air Compressor
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Air compressor motors are divided into spiral tooth type, scroll
type, alternating type, screw type and so on. The main difference
is the speed of compressed air, air quality, etc. However, when
purchasing, you still have to choose according to the pneumatic
tools you want to use in order to maximize the effectiveness of
the tools. Most air compressors can provide a pressure of 80psi
(5.5kg/cm2) ~ 110psi (7.6kg/cm2), while the average pneumatic
tool uses a pressure of 90psi (6.3kg/cm?2).
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Selection method of air compressor horsepower : First, determine the total air consumption (SCFM). The calculation should

consider the pipeline consumption, the number of equipment used at the same time, or other factors that may consume air. The
value of air consumption SCFM converted to m3/min is I m3/min = 35.3147 SCFM. If the air consumption of pneumatic tool
Ais D = 0.45 m3/min * 35.3147 = 15.89 SCFM.
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The additional reserve is adjusted according to individual needs. Generally speaking, we reserve 20% ~ 50% more. Suppose
today we set the reserve amount to 30% more. New total air consumption (DI) = 15.89 * 1.3 = 20.657 SCFM.
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Air compressor horsepower selection. When D1 <= 100 SCFM, horsepower (HP) = D1/4. When D1> 1 0 0

SCFM, horsepower (HP) = D1/5. Therefore, the air compressor horsepower (HP) required for pneumatic tool 4 = 20.657 / 4

= 5.16. Purchase an air compressor that requires 5.5 or 6 horsepower to provide uninterrupted use of pneumatic tools.



